Elim nate[{a2 == y2+X2’ b2 == y2+ (r _X)Z}, X]

~b*+2b%r2-r%-4r2y? = a*+a’ (-2b?-2r?)

= Simplify[-b*+2b%r2-r%-4r?y? =a*+a® (-2b%-2r?%)]

oui @t +b%+r4+4r2y?2 -2p?r2+2a? (b2+r2)

2= Solve[a* +b* +r®+4r2y? == 2b%r24+2a% (b2 +r12?), y]

\/—a4+2a2b2—b4+2a2r2+2b2r2—r4 \/—a“+2512bz—b“+2a2r2+2b2r2—r4

o {fy+- . - . ]

n@E= Eliminate[{a® ==y?+x? b?==y?+ (r -x)%}, y]

out[3]= b2 -r2:2r x = a?

= Sinplify[b?-r2+2r x = a?]
oufal= @2 +r (r —=2x) = b?
nsi= Solve[a? +1 (r -2x) = b?, X]

a?-b?+r2

out[5]= {{X - .
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